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Time: 10 Minutes | Paper Math 6 (T-1) Total Marks: 10
|1st Month, 2nd Week, 2nd Day| Unit # 1: Factors and Multiples |

Q.1. Choose the correct options.  (1x3=3) -Q.’/...«l?l(...«iﬁu»
(i) There are 50 students of grade VI, 70 students of grade VII and
80 students of grade VIII. A teacher wishes to arrange them in
equal number of students in each row. What is the greatest
number of students that could be arranged in a row?
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(ii) Fatima wants to cut two ribbon into pieces of equal length. If
the total length of ribbons are 108m and 144m then what is the
maximum length of each piece?
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Q.2.Can the highest common factor of 8 and 64 be greater than 8?
Explain your reasoning. (1x2=2)
Y oot e 8o S e K 64118
Q.3.Aleezey has 16 Science books, 28 Mathematics books and 30
English books. She wants to pack these books equally without

mixing the books and with no left over. What is the greatest
number of books she can put in each package? (1x2=2)
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Q.4.A room is 10m 15 cm long and 8m 80cm wide. The floor of the

room is to be paved with square tiles. Find the length of the
largest tile that can be used. (1x3=3)
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(ii) Fatima wants to cut two ribbon into pieces of equal length. If
the total length of ribbons are 108m and 144m then what is the
maximum length of each piece?
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Q.2.Can the highest common factor of 8 and 64 be greater than 8?
Explain your reasoning. (1x2=2)
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Q.3.Aleezey has 16 Science books, 28 Mathematics books and 30
English books. She wants to pack these books equally without

mixing the books and with no left over. What is the greatest
number of books she can put in each package? (1x2=2)
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Q.4.A room is 10m 15 cm long and 8m 80cm wide. The floor of the

room is to be paved with square tiles. Find the length of the
largest tile that can be used. (1x3=3)
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